Question ID | Diffculty Level Question Stimulus Option No. |Option Text Option Score
Adam sat with his friends in the Chinnaswamy
stadium at Madurai to watch the 100 metres
running race organized by the Asian Athletics
1 M o " 1 30 0
Association. Five rounds were run. After every
round half the teams were eliminated. Finally, one
team wins the game. How many teams
1 M 2 32 1
1 M 3 41 0
1 M 4 54 0
2 M Kiran had been working in a bank for some years. 1 Past perfect continuous 1
2 M 2 Simple past 0
2 M 3 Past perfect. 0
2 M 4 None of the above 0
3 M Select the correct plural form for the given word: 1 Brushs 0
Brush
3 M 2 Brush 0
3 M 3 Brushies 0
3 M 4 Brushes 1
Pick out the most effective words from the given
words to fill in the blank to make the sentence
4 M meaningfully complete. 1 am living, until 1
| with my sister | find an
apartment.
4 M 2 have been living, since 0
4 M 3 had lived, since 0
4 M 4 had been living, since 0
In the following question, select the related word
5 M from the given alternatives. 1 Shoot : Death 1
Insult : Humiliation
5 M 2 Abuse : Happy 0
5 M 3 Injury : Pungent 0
5 M 4 None of the above 0
6 M The 100 toys cost Rs. 300 how much the 280 toys 1 900 0
6 M 2 840 1
6 M 3 1000 0
6 M 4 None of the above 0
The following question, consist of two words each
that have a certain relationship to each other,
followed by four lettered pairs of words. Select the i
7 M lettered pair that has the same relationship as the 1 Often : Rarely 1
original pair of words.
Always : Never
7 M 2 Frequently : Normally 0
7 M 3 Constantly : Frequently 0
7 M 4 Intermittently : Casually 0
Given following sequence, find the next term in the
8 M series: 1 20 0
0,2,4,6,8, 12 12, 20, 16,
8 M 2 30 1
8 M 3 24 0
8 M 4 18 0
All men are vertebrates. Some mammals are
9 M vertebrates. Which of the following conclusions 1 All men are mammals 0
drawn from the above statement is correct?
9 M 2 All mammals are men 0
9 M 3 Some vertebrates are mamma 1
9 M 4 All are correct 0
Select the correct tense:
10 M She had played carrom. ! Future perfect 0
10 M 2 Past perfect 1
10 M 3 Present perfect 0
10 M 4 Simple present 0
11 M Select the correct plural form for the given word: 1 Countrys 0
Country
11 M 2 Countryes 0
11 M 3 Countries 1
11 M 4 Countrees 0
12 M Select the correct plural form for the given word: 1 Mice 1
Mouse
12 M 2 Mouses 0
12 M 3 Mices 0
12 M 4 Mouese 0




Pick out the most effective words from the given
words to fill in the blank to make the sentence

13 M meaningfully complete. 1 were telephoning, watched 0
You when | the television
yesterday at eight p.m.
13 M 2 was telephoning, was watching 0
13 M 3 had telephoned, was watched 1
13 M 4 telephoned, was watching 0
14 M Which city is known as the world of fashion? 1 Paris 1
14 M 2 Mumbai 0
14 M 3 californio 0
14 M 4 None of the above 0
15 M What is the name of hereditary dress of Indian 1 Salwar 0
Women?
15 M 2 Skirt 0
15 M 3 Saree 1
15 M 4 Ghaghra 0
16 M What is the name of the loose covering for the 1 Shawl 1
shoulder?
16 M 2 Coat 0
16 M 3 Jacket 0
16 M 4 muffler 0
17 M Which is cool colours ? 1 Red 0
17 M 2 Orange 0
17 M 3 Green 1
17 M 4 Yellow 0
18 M What is the name of the sample piece of cloth? 1 Swatch 1
18 M 2 Piece 0
18 M 3 material 0
18 M 4 cloth 0
19 M What is the name of the trousers reaching only to 1 Shorts 1
knees?
19 M 2 Cargos 0
19 M 3 Capries 0
19 M 4 boxers 0
20 M What is the name of sleeping suit? 1 Pyjamas 1
20 M 2 Salwar 0
20 M 3 Kurta 0
20 M 4 Skirts 0
21 M Which are the natural fibers ? 1 Cotton 1
21 M 2 Nylon 0
21 M 3 Ployster 0
21 M 4 Chiffon 0
22 M What is the name of the ornament for the ankle? 1 Braclet 0
22 M 2 Armlet 0
22 M 3 Anklet 1
22 M 4 None of the above 0
23 M What is the name of the covering for feet ? 1 Belts 0
23 M 2 Gloves 0
23 M 3 Cap 0
23 M 4 Socks 1
24 M Which of the fabric is suitable for summer season 1 Wool 0
24 M 2 Cotton 1
24 M 3 Silk 0
24 M 4 None of the above 0
25 M Which .of the following is a lifestyle and fashion 1 Forbes 0
magazine?
25 M 2 Time 0
25 M 3 Vouge 1
25 M 4 None of the above 0
26 M The word “suit” is derived from which language? 1 French 1
26 M 2 Italian 0
26 M 3 Greek 0
26 M 4 None of the above 0
27 M According tq .tradit_ional Indian customs, a bridge 1 Yellow 0
wears a sari in which color?
27 M 2 Orange 0
27 M 3 Red 1
27 M 4 Blue 0
—is the dress fitted through
28 M the bodice, waist, and hips, and flaring out from 1 Ball gown 0
the knees.
28 M 2 Mermaid 1
28 M 3 A-line 0
28 M 4 Empire 0
29 M Which brand is ‘The Brand with 3 Stripes’? 1 Sketchers 0
29 M 2 Adidas 1
29 M 3 Nike 0
29 M 4 None of these 0




30 M Which is the slogan of sports brand ‘Just do it'? 1 Nike 1
30 M 2 Sketchers 0
30 M 3 Adidas 0
30 M 4 None of these 0
31 M Y;IELCh colour do we have when mixing yellow and 1 Brown 0
31 M 2 Purple 0
31 M 3 Orange 1
31 M 4 Blue 0
The Olympic Flag features 5 interlaced rings in .
32 M blue, black, red, and which two other colours? 1 White and yellow 0
32 M 2 Yellow and green 1
32 M 3 Green and purple 0
32 M 4 Blue and Red 0
The surface of Mars has a rusty reddish colour .
33 M because it is covered in which element? ! Copper oxide 0
33 M 2 Iron oxide 1
33 M 3 Aluminum oxide 0
33 M 4 None of the above 0
34 M Which paﬂ in human’s eyes is responsible for 1 Cones 1
colour vision?
34 M 2 Pupil 0
34 M 3 Iris 0
34 M 4 All the above 0
35 M We can make green by combining which two 1 Orange and blue 0
colours?
35 M 2 Blue and yellow 1
35 M 3 Red and blue 0
35 M 4 Yellow and red 0
36 M What is the first colour in a rainbow? 1 Green 0
36 M 2 Red 1
36 M 3 Blue 0
36 M 4 Orange 0
is the colour of the night
37 M sky filled with moon and stars. ! Yellow 0
37 M 2 Green 0
37 M 3 White 0
37 M 4 Midnight blue 1
38 M Earth is also known as the 1 Yellow 0
planet.
38 M 2 Purple 0
38 M 3 Blue 1
38 M 4 Red 0
39 M _Which colour symbolizes peace, purity and 1 Purple 0
innocence?
39 M 2 Black 0
39 M 3 White 1
39 M 4 Red 0
40 M The largest mammal in the world 1 Blue Whale 1
40 M 2 Shark 0
40 M 3 Dolpin 0
40 M 4 None of the above 0
41 M What is the color_of the letters O and E in the logo 1 Yellow 0
of the search engine Google?
41 M 2 Blue 0
41 M 3 Red 1
41 M 4 Orange 0
42 M How many squares of alternating colors are there 1 54 0
on a chessboard?
42 M 2 60 0
42 M 3 58 0
42 M 4 64 1




